ol mAma3wi

(Linear Inequalities)

** Mathematics is the art of saying many things in many
different ways. — MAXWELL

6.1 ghar

fugstit A3t ST wiAl feq 98 M3 © 98 8t AHidde’ 979 U 9d IF M3 J9 JaaT @8 YAsT
& mitgget &9 gv5 & 9% < &3 J1 g 73 fowmar ffe ffa yms e 9 fa “at ggst =8
(wﬁa)wammmewhﬁmma ?”@Errawesa’satrrs?mrrgew
feﬁwa%ﬂwe’r@we’rmon»ﬁ FUe T, ITST AHI € T 9 T T U 60 HA AT JIHPHT AT 8=
JuboT A7 AaET I | feg g fen 397 € J8s Hae g6 fAgt 99 < (3 ue), > (3 =), < S We A
g9799), > (3 <U A g9H9) fogt &t =93 gt I1 fom & it s zT=t afde ot |
&HM%W%&WW@@W?@WMW@WMW@?W%
fefamrs, aife3, wasT fefarrs, Madfd3 (optimisation) ANTHT=T, »ggR™m39d, Hafefamrs wfe
me?mﬁnﬂ?xmmfe?m@tmﬁm

6.2 MAN&EI=T (Inequalities)

g J&t fa3t Afast 3 fegg adie :

(1)a'e°r200a' & o g9 {39 9% ydtes Aer 3, 7 fa | faar. € aet &9 Quwan g5 | fEa fas g5

\-«\a

TUICTHS 30 T Ulm@ﬂwuﬁ—ewwe’rmxﬁ 3T BH ©MIT B YIg 13T I
30x I3t | fafa €7 & 9% fAge Uaet &9 It wdtee g, €9 200 g: €F yat gt & yaw &Jt g9 Aaar
(fag ?) femr et

30x < 200 (D)
MiHe 39 '3 986 (i) mtade &4t T fa@fa fen <9 goma9 = f9g &t T1
(ii) IFHT I 120 T: I& AR &% QU g3 IfAneT W3 U's ydteeT gd<t I | feq afared € iz 40 7
W3 ffq U'E € I 20 7 T | 799 ©F =4I yate JIe Ifanedt € farest x w3 Ut <f fareat y 3=
37 few Afagt fEg I ©dT 499 13 UN (40x + 20y) T: J=dr | fem st

40x + 20y < 120 . (2)

fa@fa fem Afast fEg you 13t ot d& Us It €U 3 20 120 7: J | fonrs e fa qgs (2) € & gmar
Or)

40x + 20y < 120 (3
mI 40x + 20y = 120 o (4)
85 (3) fea mitages adt § g7< feo feaq mimma3T 3, A fa (4) fea mitage J1



96 dJfez
ufggmr 1 € swsfea Afumret AT € »isAgge! fermat fagt fEg fagt <, >, < aF > St <93 gt
I, & mMAHTsITET e 95 |
Sug &3 IE (1), (2) M3 (3) TGS AT MAHTSI=T IS |
3 <5; 7> 5 wfe B 3aHa (numerical) MANTE3T=T I8, A fo
x<5,y>2;x = 3, y< 4nfe g3 Gurgdst mafea A7 q<t (lateral) MAHTS 3=t Tt TS |

3<5<7(fem &5 33T UI 7T ST, UFT TN, 3< x<5(FER 3 T I AT Gggam3 5 I &7
UZe T M3 2 <y < 4 g% GEIdST ST MANTEITRT ST I | iAHTE IR Tt g% 99 Geraast
fen 39 9% -

ax+b<0 .. (5)
ax+b>0 ... (6)
ax+ b <0 . (7)
ax+b =0 .. (8)
ax + by<c .. (9)
ax + by>c ... (10)
ax + by <c .. (11)
ax + by=> ¢ .. (12)
ax* + bx + ¢ <0 .. (13)
ax* +bx +c¢>0 .. (14)

WMAHTEITET (5), (6), (9), (10) M3 (14) feRfa3 (strict) MANTEI™=T I& A fa (7), (8), (11), (12), M3 (13)
BIAIBT (Slack) MANTEIT=T TS| (5) T (8) I Tt miAHTSIT=T o I8 BT Jut WS IT=T I5
7S a 20 M3 (9) T (12) I T MHTEI=eT © I &9 Ht MIHs3=T I&5 A€ a 20, b #0.
MANTEITET (13) MI (14) 34t &4t T5 (vAw ST feo ffa 98 x @t € w3t mims3T=t I35
A< a #0).
fem niforfe ST »irt fage fea W3 € 98 8T ot viarsgT=t 979 It ugiar|
6.3 fEx 9% =w Ut MAHTsI=T E dingifest 36 M3 Gust & Widt fegue (Algebric
Solutions of Linear Inequalities in One Variable and their Graphical Representation)
W g1 6.2 fE9 fe3t a3 (1) 7= 30x < 200 BEIE |
fonrs fe€ fa €8 x, st € Uget & farest § san@<et T1
AUHe 39 '3 x fae=amd Ayas Afenm w3 f9s &dt 3=t | A& 3T & ¥eT 99 (L.H.S.) 30x M3 HAT 48
(R.H.S) 200 T | fem st
x =0, BE 87 I8 = 30 (0) = 0 < 200 (FAT J7), # fa A9 J|
x =1, BE 97 I8 = 30 (1) = 30 < 200 (AT J8), = fa g J|
x =2, B ¥ET I8 = 30 (2) = 60 < 200, (AT J8), # fa A9 T
x =3, B ¥aT 38 = 30 (3) = 90 < 200, (AT J8), # fa A9 T
x = 4, B ¥ET I8 = 30 (4) = 120 < 200, (FAT J9), 7 fa Hg J|
x =5, B ¥ET I8 = 30 (5) = 150 < 200, (FAT J9), 7 fa Hg J|
x =6, BEL 9T J7 = 30 (6) = 180 < 200, (FAT J°), # fa Hg J|
x =7, B ¥gT 38 = 30 (7) = 210 < 200, (FAT J9), # fa B3 T1



It eI 97
Sug &3t nfast fSg wirt Sue Of fq x € 1 fAr 7% Suast »imis3T Adt 98s A eI gt 3
0,1,2,3,4,5,6 35 | x € feg ¥®, 7 €'ug &3t Iet vimra3T & Aot 98 s=78% 96 & MANS3T & I8
afde It M3 AT {0,1,2,3,4,5,6} & fereT 38 Ao afde a5
fen &et ffq 98 T8 WAHTs3T T I8, 98 @ €0 W J fAn &% feo g8 A9 (I WAHE3T Aat)
J<|

€ug &3t miATs3T T I8 wiAt Sfad W3 g (trial and error) feUt 7% 13T I, 7 993 AfeuHsa
&4t I 1 miAe 39 '3 fen feut & 9g3 Aar Mt BareT I 3 Je-a€ A9= =1 &d1 It | viaaT=t
% 995 € de I9 U™ 7 qHET TSI € 73 7| fen 3 ufost g At mars3Tet
¥ 99 g e It g6 M3 MAs3T=r & I% e AN feust famit e use gasT gdter 31
36 WE J=ar fa 3t miigaet § & qae AN »Ht Jo fe3 ot & e aae ot :
fswni 1 : e mitage € at ufnt f&T fea faat Afienr 731 (A werel) A7 Aot T
fswns 2 : fEaq mitagae € Sat Uit & fea frgt g9 faee Afwnr a7 gret (7t gman) a3 77 Fger J1
MAHTSIRT § & g€ AN =T AT fegst faet & ussT gatdr, fsw 2 ST fer me3 o fa Ae
AT MATs3TET & gIet (AT gman) fan faesna Aft 7% Fatar 3T vAs3T T oy €% Ar=ar
(F= ‘< & AT > M < AT >’ § A=ar ) ferer a9 Jot f€3 39 I Aume 7
3>2Ad fa-3<-2,
—8<-7HEfT (-8)(-2)>(-7)(-2), = 16> 14.
fen 3g7 s 3T & I8 J9s Set wiAt ot fe3 femt v G3y aee ot :
fewn 1 : mAaHTa3T € &9t y fea fagt Afvnr & Afenm (AT werfenm) A7 FaeT 4, fer 578 »imssT
¢ fag 3 Jet g9 &dT u=ar|
fswni 2 : fam mAHTs3T § S0 R fEa fadt usmsHa Aftm &7 gret (AT 9maT) 3T AT AdeT J, U9
gty & fradt faemava Afunr 7% gt (AT 9791 d96 5% WANTE3T ©F fog G%e e I
g g% Gergast 3 fegg adte |
Gewae 1:30x <2008 I8 J3F A< :

S

(i) x yrfgfaer Afumr 1 (i) x Fyg®s Afepnr I |
Js : f&3T T30 x < 200
. 30x 200 20
_<_ [
Hat RE feeH 2), I= x < 3
() A< x Yigf3a Afvmr T, 37 IaT €3 x © & a5 & Adt daadr;
1,2,3,4,5,6.

MANTSEST ©T I8, AHT {1,2,3,4,5,6} d=ar|
(i) 7 x Aygs Aftr g, fEst mmrasaT e 75
w—3,-2,-1,0,1,2,3,4,5,6 3= |
fer Bt viAs3T e 3% {...,-3,-2.-1,0,1,2, 3,4, 5,6} T
GemeE 2:5x-3<3x+1 F IS JI A

(i) x AYSs Afer J| (i) x THISfea AftprT T
9% fE37 T 5x -3 <3x+1
AT Sx-3+3<3x+143 (fswni 1)

AT Sx<3x+4



98 difez

AT 5x—-3x<3x+4-3x (fao 1)
AT 2x<4
7 ox<?2 (faw 2)

() 7 x Aygs Aft g, &3t It a3 € 9%
e—4,-3,-2,-1,0, 1 g&T|
(i) 7o x THIfST AftprT T 3T MANTEIT @7 I8 x < 2 J < 2 T W2 TR ArdtnT T A3fea
Hitmr=T | fer e MAHTE3T €7 I8, AHT x € (- o, 2) I |

AT WS IRt € I8 Yigfaa Aftmret fyas Afinret w3 smafed Aftrret € Ayat 3 fegg
I UY3T JI3 I& | WidT A€ IF fsfeorm &7 772, fen wifowrfe feg »imrsaT=t o I8 @w3fed
Aftmi=T € AT f<9 9t usT Fafar|
Gegde 3 : IB AT 4x + 3 < 6x +7.
J5 €37 T 4x+3<6x+7
G 4x —6x < 6x + 4 — 6%

|t —2x<4 |t x>-2
I Aatt Tmsfed Aftmret |7 -2 3 U 95, 99 fen vims3T T 3% g% | fer B 9% AT (-2, ) T
5-2
Geaas 4 : 3x<%—5 & IS IT|
J% . faar g s
3 6
G 2(5-2x) < x-30
|t 10—4x<x-30
|t —5x<-40, Ix > §

fer et ArabiT = afea Aftpiret | 8 AT 8 3 I I3, &3t Tet MAHTEIT T IS IS, T x € [8, ).
Gewee 5: Tx +3 < 5x + 9§ I8 J3 M3 I& § Al Jur 3 €anQ (few§) |

a‘& f@3r 3, Tx+3<5x+9

2x<6dTx<3
Wwammwahﬁ6lh€mWW|

o T
-4 -3-2-1 01 2 3 4 5 6
fe39 6.1
3x—4 _ x+1 o e mw e "
Gegaz 6 : 5 ZT—lamaamgwgﬂqu@—ghw@l
. = 3x—4 +1
9% . fEar g, |
2 4
- 3x—42x—3



-

It MATEIT=T 99

Gl 20Bx-4)=(x-3)
|t 6x—8>x-3
Gl 5x>5 or x>1

% @ et gu 939 6.2 <9 feure wigng J1

T T T T T T T T
-4 -3-2-1 012 3 45 6

fe39 6.2

>

Gemme 7 : XI A3 © € fefenmagt & ufa® w3 end Ag9 et yifumr=t 9 grema 62 w3 48 nid
YUz F13 1 8T uie 3 Wie #ia 3T a4, fan & e Uifvmr &9 YUz aod fefemmast € wat e »ins
We 3 We 60 I= |

95 : 15 B8 fefenraat @ aeraT ferfaors << »ia x I, 37

62+48+x
3
U 110+ x> 180
|t x=>70

fem Bet, Wie 3 e 60 #at & 7Rz YUz J9s et fefenmadt € 70 #Wia »8e wget 75 |

Gergge 8 : gHET9 oiF Afvr=T € few 3¢ € Yigfsa Aftret € A= usT a9, fan ff9 €< Afir=t
10 3 T I W3 €UaT T A7 40 T W I

1% & BQ fa € grerg efa yigfsa Afimret € 73 9 x &t Afawr J1 few 3g7 gwat Afam x +2
J<qit| 3T A3 &

x>10 o (D)
MI x+ (x+2)<40 . (2)
(2) & 3% a95 3, g fuser 7

2x+2<40
A x<19 .. (3)

(1) m3 3) T A
10<x < 19 YUz ger J|

fa@fa x e Aftrr T, fem Bt x € W& 11, 13, 15, W3 17 T Aae 75 | fen st 83e A< A3 (11, 13),
(13, 15), (15, 17), (17, 19) I=ar |

mfg™ 6.1
1. 24x< 100 & 9% d9, A<
(i) x yfagfaa Afamr 31 (i) x YIS Aferr J|
2. I& dd— 12x> 30, A :
(i) x yrfgfaar Afemr 1 (i) x YIS Aferr J|

3. I8FISx-3<7, 7 :
(i) x AYT®s Afeenr T (i) x THISfea AftprT T



100

4.

S.
7.

9.

11.

13.

15.

Jfes

3x+8>2% I% Jq, A :

(i) x AYas Aferr J| (i) x THSfeT Aftorr T
UHS 5 3 16 S s 3= IR3fed AfenT x B8t 7% a4 |
dx+3<5x+7 6. 3x-T7>5x-1
3x-1)<2(x-3) 8. 32-x=22(1-x)
X X X X
+—+—<11 e |
* 2 3 1o 3 2
3(x-2) _5(2-x) 1[3_x+4)>1 6
s ST 3 12. 5|7 _3(x )
2(2x+3)-10<6 (x-2) 14. 37-Bx+5)>9% -8 (x—3)
£<(5x—2)_(7x—3) » (2x—1)2(3x—2)_(2—x)
4 3 5 3 4 5

UHS 17 3 20 3T €t miars3T=t § 3% a9 w3 §FF & Aft dur 3 wafu3z a9 (Fag) |

17.

19.

21

22.

23.
24.

25

26

3x-2<2x+1 18. 5x—-3>3x-5

£>(5x—2)_(7x—3)

23 5

3=t & ufgshn € gfse yiftmret f&9 70 W2 75 W YUz d13 | SiAet v &9 8o wie 3 uie
fos wa = fa net We-ue #mg 60 Wd T A< |

i usg <9 ‘A’ 313 YU3 J9s &et fea fem@3t § ardhot Ua iftmr=t (g9 fea 100 #a &)
90 #a AT fen I Fu Wi Tt #AI YU3 d9at UEt I1 7d9 Hai3T € ufad 979 ferfaorst feg v
87,92, 94 M3 95 I, 3t &N fa FaI3T Ur=t lfienr fiS9 uWie 3 Wie faa #a 32 fa €7 & usgy
feg ‘A 37 & AT |

10 3 ufe BAM3T US 7T HYdS A=t € A= U3T &4 fAgr er 7= 11 3 Fu 3= |

5 3 2u ARz Us AYds Aftpret € Bar39 A3 U3T a9 fa Gust &7 A% 23 3 e J= |

e fagm €t A9 3 &4t ga7, f3ga €t A9 3 &<t gaT &F 3 g+ I W3 Inet ga Ay I St gaT
3 2 Bt Wi I1 Age fagw e ufonry ufe 3 Wiz 61 7t 92 3T Ag 3 &<t gaT €t Wie 3 e
BETEr U3T T |

fea fenaat 91 7)t. 39 893 ST 35 Sgeht deer grder J | ghat Sumel A9 3 &t duret 3
3 B M. TU w3 SiHdt et A 3 21 $uTEl 3 daIeT I | AT 3 &¢ 593 ©f Ag< duret at J, Add
ItHaT 23T EHT ga= 3 We 3 Wie 5 At fu e 99 ?

[Aa= : Add AF 3’ &< 998 € el x A Ht. I 37 Hd M3 3T edfamt gt Sarehnt gHe™g
(x + 3) AMT. M3 2x Tt | fem 37 x + (x + 3) + 20 < 91 MF 2x > (x + 3) + 5.

3(1-x)<2(x+4) 20.

6.4 € IBT BT Ut niAHTEITET @7 9 BT IS (Graphical Solution of Linear Inequalities in Two
Variables)

ufa® gmar i[9 mirt eftprr I fa feq 95 =&t ut v 3T & wdy 8 934t fague I M3 mimirs3T
T I8 T S5 9% e i Aaw feut T 1 g vt € 9% S8 3t WA 3=t € WaYT 919 <96
Fatar |



It mmrEIT=T 101

it Arew Of fa ffq Jur aractavis 3% § € g1 <9 <3<t J1 99 feq gmar § »fur (m9w) 35

fagr e 91 T &9 3y, 3% & ¥ W3 Ae »U 35T fI9 €31 I M3 Ji0-39 ur 35 & Quad w3
Jo8 gy ISt g Szt I1 (939 6.3 M3 6.4)

Y
v A
A Quamr 35

N
g
11 -
¥9TdU | HATHMIU JoBT 38
I8 I8 My
1 11

o X' € 0/ - >X
A4 v l/\/

Y! Y/
fg396.3 fg33 6.4
FaciHme 3% feT feq fig 7 3 Jur Qua Afexs I3 w23 Af »9u 3% [ A 11 <9 Afgxs g=ar |
g »At feg 2yl fa ot fq 3% <o Afes fig & MA&s3T ax + by < ¢ AT ax + by > ¢ &% J€f HET
J?

MG IUT ax + by = ¢, a#0, b 20 .. (1) BEE

< ¥y 35 AgeaT=r I :

1 ax+by= ¢ (i) ax+by>c (iii)) ax+ by <c.

HUHe 39 '3 AfESt (i) i< (i) & AgWe d96 & A9 8 (x, y) (i) @79 fogu3 3uT 3 Afgs 96 w3
fermer €we <t Afat (i) ffe Wl ufgst s BER fT b > 0T 1 U ax + by = ¢, b > 0 3 fea fiE
P(a, B) &S 3T T ao + bB = ¢ | T& TeF J9 f&€ Q(o, ) "aT 35 11 (537 6.5) ffT 3C|

ge 939 6.5 3wt fier dee of fa
v>B (fa& 2)
bY >bB AT ac+by>ao+ b fag 7

1

ak+by>c




102 dJfes
I, Q(0, Y) MANTEST ax + by > ¢ & HIHC FaeT J|

fsnm’mmawumaumx+by_c3@1mﬂfagmfa€nwﬂ+by>c?§ﬂ3¢rc'aa€
I5 1 9%e 39 '3, H??B@(oc B) FuUT ax + by = ¢ 3 Afaz f&F f&g T M3 &g Q(a, y) MMS3T ax + by >
c & AgWe gaeT I

3t fa ao, + by>c
= ao. + b y> ao + bp (fg€ )
— v>B fa€fa b > 0)

fem 3 9= 9 fa f&g (0, V) »ou 3% 11 f<9 Afez J1

fem et g 3% 11 <9 Jet < g Wa3T ax + by > ¢ § AgHe dder I w3 fere Gxe agt <t
ffg 7 ax + by > ¢ & F3He FIer J, 8T »9u 3% 11 f<9 Afgz I

Had b < 0 92 3T mirt fei 3g7 It fifg o9 mae ot fa aet €t i 7 ax + by > ¢ & AgHe J9eT 4,
€9 »au 3% 1 {39 Afag Jer I w3 ferer €5 <t

mwwmmﬂﬁ§®3@?ﬁﬁﬁgﬁax+by>c§ﬁ3ﬂ?&8@'ﬂ?§’rm32%'llﬂ+1%€
J<ar, b > 0 A b < 0 St Afg3t mignTg w3 ferer Gue <t

fen 3g" ax + by > ¢ T WBY fegst wau 3BT ST € mau 3% I [fARS TS ¥3T (solution
region)] M3 few € Ha13 Maw 3% & femTaga (Shaded) Taa fem & wanrfemT wier J|

wfeust | 1. Qv ¥39 fAn <9 fan »ms3T & yar I8 Afez d2, § OF mmias3T er J% 439
fde I& |

2. fai MAHTE3T EvTaT TgATE ¥39 ©f ufgeTe Bl fan »au 38 € d=s fea fig (7 Jur 3 nfas
3T 39) (a, b) & & & A9 JI&T It A=T I, fa §v fig €7 »mis3T & Azgwe gder I A &9t | 7dd
feg fig a3 § AgHe dder J 3T MANTS3T §F MaU 3% § TanSel I M3 fen »eu 3% §
gfenrfas a9 fasr aer 9, fan f&e feu fig 9, =at 3T mimrs3T €7 nigy 35 & Tonrestt fam fee
feg fég =<t 31 gfeur € st »it f&e (0, 0) § ufom fée a7

3. Hd9 feg MAHTE3T ax + by > ¢ A ax + by < ¢ ¥ JU T T 3T YT ax + by = ¢ 3 Afgz A9 i
fene 7% 439 <9 o 9€ 9 | for 58t 3% 439 3 arfadt ot yr fige ot |

4. HIT MANSST ax +by>cAtax +by<c S U I3t ax + by=c I AfEz A9 g fen &
% 439 {39 wiis o4t J=dr | fen et 3% 839 3 JuT de<t Af §fs3 ffae a7

391 6.2 ffT A € T8 x M3 y fT9 Jot &3t mimirs3T yuz It At

40x +20y < 120 ... (1)
+ IAHT EwraT 3fAreg M3 Us ydtes Wadt mefed yis & aifefsa gu <9 seve &% YUz get At
g ge fen a3 § feu fonrs 9 Jue 38 I8 J9le fa x m3 y 3=8% Yas Aftrr=t ot 9
Aaet 05, fa@fa sagwt &t farest f9at A faesva Afvret ST &4t I naet | fen Afest fee
Wit x M3 y € Hat & Qs Afemt T uzT a9tar fan &% aEs (1) A9t Ae3 3T | vias ST feast
AfznT 87 AHT, MANTS3T (1) BT J& AYT d=ar |

x =08 J §g JI< JT, (1) ©F ¥ar YT
40x + 20y = 40 (0) + 20y = 20y =3I
fem =t 20y<120HATy <6 . (2)



JHt mATE3T=ET 103
x=0%ety & fEg s fae 0, 1,2, 3,4, 5,6 T Ao 7 | fem Afadt iR (1) T 3% (0,0). (0.1). 0.2). (0.3).
(0,4), (0, 5) M3 (0, 6) IS |

fer3grat ()T Te IS, A€ x= 1,23 3T 37 (1,0), (1, 1),(1,2),(1,3), (1,4),(2,0), (2, 1), (2,
2), (3, 0) ISIT |

fegat & f939 6.6 f&g feurfenr faprr 31

r—kNm.kula\\lw

fg396.6

Mg g x M3 y € Y'I § Uds Afteet 3 I3fed Aftret 3 Tur €Fie w3 vl fa few
Afagt &9 (1) T 3% &t 329 | 3t T84T fa % J95 & wrant feut fen mfast fee <u afeussa 1
fem €ew et G fene fors mitase

40x + 20y = 120 .. (3)

were w3 ferer mray faite | feg fed Ao Jur T 1 3% & € MdU 3% [ W3 »au 3% 11 f<9 <3<t
I I MAHTS3T (1) T WraY fige et mit fea fie vs 6 (0, 0) o 35 (1) fI9 3¢ g7 w2 feo Aiee
T g x M3 y T foeg W MAHTS3T § fgne daer J Af &t

WHT BYe I T x = 0, y = 0 MAH™S3T & HgHe dae J& | fem 337
WAt afde ot fa wiag 3% 1 fE3t mias3T @ Wy T (939 6.7)1
faSfa Jur 3 Afez A9 fig <t wia3T (1) § AgHe 9T U5, fen
et qur <t ey T fEq fmr J<att|

few 39t fE3t 98t iAHTs3T & W8y »i9y 3%-1 fan &g Jur =t
FHE I 1 AuRe I S maw 3511 w3y e fdnr &t 9<ar | few 39
MAHTS3T (1) T I fere »dy 3 Afez 99 fea fig d=ar (weu 3%
[ AN 3um)

MANTSIRT § J% J96 T 99 GETIaet BT

11

&
X €

—t ——> X
NS

Yy fd396.7



104 dfez
GeEE 9 : 3x + 2y > 6 & WA feut 5% I F9 |
9% 3x+ 2y = 6 T 0By 937 6.8 f[So feugt dfsg qur S feg Sy xy S® § S mau 3BT I iz 11 T
It 1t aET fig (uT 3 &a1) 18 BE (0, 0) B€ T, 7 fa € migw IuT &9 a9 7 (937 6.9)
w3 Tue I fq ot feg fig &3t I8t a3 & figHe ager J, wAt gue ot :

3(0)+2(0)>6
7 0>6, #faIms3 T

Y
L
2
o 4
3“ I
2 \\
1 I
X € — ——————> X
ol 1 2934567
Y’ ‘Ll

939 6.8

fen et nigw 351 &3t I8 mis3T T I5 U39 &4t J1 AUre I fa dur 3 Afez qet <t fie fem
ferfes WMs3T § HgHe &4t ddeT| grd muet {9, gferm—fas »Eu 3% 11, 3y 3 Afgs A9
faent & &7 8T I8, MAHTE3T T % U39 J|

Gemee 10 : 3x - 6 > 0 & E-fenret 35 &9 Waut feut 5% I8 a3 |

3% 3x— 6 = 0 T By 937 6.9 <9 feur® nigamg T 1wt Jet g s &6 (0,0) BT ar M3 fem &
fagt Tt wims 3T &9 Jue I, wint 9w ot

3(0)-620 AT—6>04 fa w3 T
fen wet, 3% 439 ferm—nifaa 439 J, 3uT x = 2 € Hd I8 T8 UH |

fg396.9

Geme 11 :y <2 & wdn! feut &% 3% ad |
9% : y =28 @Y 939 6.10 fET feure »igAg J1
G &g (0, 0) 7 fa To8 »iEu 3% [ ff9 7, B M3 y = 0 & &3t It a3 fe e |
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fd39 6.10
WMAT SYE T, I x 0<2 AT 0< 2 o fa st J|
fen &€t 9% 439 U y = 2 € J&* gfenm-nifaz 439 J | fen et gur € Jot Afgs g9 fea fig (qur
3 Afez faent & ¢ 3°) et w3 e 45 J1

mfmm™ 6.2
@-fenmet (two-Dimensional) 3% <9 J&t festt mimras=t & J& a9 :
1. x+y<5 2. 2x+y=6 3. 3x+4y<12 4. y+8=22x
5. x—-y<2 6. 2x-3y>6 7. =3x+2y=2-6 8. 3y—-5x<30

9. y<-2 10. x>-3.
6.5 € TBT THBMT JUt MANEI=T & ySBt € IF (Solution of System of Linear Inequalities in Two
Variables)
fued grar f<g vt © 98T TSt St s § wradt fett 57 I qoaT fifenr I1 g wit g9
Gegaet € AuTfesT &% € 98 TBMT IHt MAHTEI=T T USRI § I% dds ©f feut Aure Jatar|
Eeme 12 : IoT &3t ut MiAHs3T yrat § wradt feut 5% I% ad |

x+y=5 .. (1)

x—-y<3 .. (2)

9% : 3dt mitges
x+y=5
o w3y 937 6.11 &9 feume wigaa J|
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WA T I fad MANTS3T (1) T 3%, 34T x + y = 5 © SUIs gfemm—nifag 439 o feyfenr
farur 3, fam feo Sy Ques fig &t wiis g& 1

fen Ot fagem wiat ud '3 it milaa® x — y = 3 &7 By <t 537 6.11 f<T feue migamg fuge It
WA SYE I fT MAHTE3T (2) €7 I8 34T x — y = 3 @ GuasT efenm-ifaz gt 3, fan fEe 3y Qug Afes
fég St s g5 |

AUHe 39 '3, dudr efemm-wfag 839, 1 fa 8= afeorm-nifag 439 e maigr g, fest get
MANTEIT YSTHE T ST I8 J
Geee 13 : Iot &3t a3 yE8t & mradt feut 5% I% ad|

S5x+4y <40 .. (D)
x22 .. (2
y=3 .. 3)

9% . wAT ufgst qyr=T,

5x+4y =40, x=2M3 y =3 T w3y fygiar|
g wAt SYe T fad MAHTE3T (1), 34T 5x + 4y = 40 € J&T Efemm-nifaz ¥39 § wen@<t I, fan fes
3T 3 A3 A9 fiE & 7irHs 98 | MAHTS3T (2), 3UT x = 2 € Ad 98 8% UTH T efenm™ a3 439 w3
MANTS3T (3), U™ y = 3 € Guad un efenmm-nifaz 39 fan &9 feost quet '3 Afeg A9 fig <t
A% I5, § eaner I | fen wet Ay gfenmm—ifas 439 w3 fegs™ duet 3 Afas fie &3t 9t ot
WMAHTE3T YTt € 9% 75 (939 6.12) |
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fg396.12
993 Aatt fegraa Afashit fS9 fam i viis 3T yerst <9 9% x w3 y © U& fae=ava adt
J Aae, §egde € 39 '3 3ueq feareht €t fare3t, uatetnt =g €t farest, o a3 uifent &t
fare3t »rfe | mime T fa fegst Afggtt fR9 x> 0, y > 0 3 I% 439 ufost Saret fIg J=ar|
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Gegae 14 : J&T &3 AS3T Y=T3T (System of inequalities) & I& Ja |

8x + 3y <100 . (1)
x>0 .. 2)
y=0 .. 3)

J% - AT JUT 8x + 3y = 100 T MTBY fdGTaT | MANTE3T 8x + 3y < 100, IUT € HB gTeT-wifa3 439 M3
U™ 8x + 3y = 100 3 Afgz A9 fgmt § wem@<t 91 ((¥39 6.13) |
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fa@fa x>0, y > 0, femr et ufost Jaret i efenr—ifas u39 e 99 e fag, fan f<e ur 3 Afas
A9 f&g W3 gfent 3 Afgs A9 fig &3t I8t vimrs3T yo&t © I8 § eane 75 |
Gemee 15 : Jot fE3t MAHE3T yoBt § I8 J9 |

x+2y<8 . (1) Y
2x+y<8 .. (2)
x>0 .. 3)
y>0 e (4

U5 WA QU= x + 2y =8 M3 2x + y = 8§ & WMBY
ST | MANTS 3T (1) M3 (2) €< JU'=T & J&% 839

fa@'farxz 0,y= oﬁ,fevraﬁufaﬁéwe’rféq
gfenm—ifaz 439, &3t et a3 yerat € 3%
& Tomfer 7 (939 6.14)
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mfgm™ 6.3
Jot festt mimra3T yeat § wradt feut 5% 3% &9 -
1. x=23,y=22 2. 3x+2y<12, x21,y22
3. 2x+y26,3x+4y<12 4. x+y=24, 2x-y>0
5. 2x—y>l,x-2y<-1 6. x+y<6, x+y=4
7. 2x+ y=28, x+2y=>10 8. x+y<9, y>x, x=20
9. S5x+4y<20, x=21,y=>2 10. 3x+4y €60, x+3y<30,x=0, y=0
11. 2x+y=24, x+y<3, 2x-3y<6 12 x-2y<3,3x+4y 212, x=20,y=>1

13. 4x+3y £60,y>2x, x23, x,y=20 14. 3x+2y<150,x+4y<80, x<15, y>20,x=>0
15 x+2y<10,x+y=21,x-y<0,x>20,y=0

g2a® Gergget

Geee 16: -8<5x-3<7&IB AT

J% : fen Afgst ST A8 3% € MAHs3=, - 8 < 5x— 3 W3 5x - 3 < 7 75 | feuast & vt 57%-578 I8
arar |

Ag fE3rT-8<5x3<7

AT 5<5x<10 7 —1<x<2
5-3x o
@egge 17:-5< 5 <82 3BT
dm o fdgrd -5 < 2x_8
Hr -10£5-3x<16 A - 15<-3x<11
S T
ZXZ— 3
. : . 11
few & few 3g7 = faftoyr 77 AgeT 9, S S XSS
Geee 18 : MAHE3T Y8t § I8 ad |
3x-7<5+x .. (1)
11-5x<1 (2
M3 I% & Afer JuT 3 TS |

9% MAE3T (1) F A fuser I
3x-7<5+x
Gl xX<6 .. 3
MWAHS3T (2) 3,
11 -5x<1
Gl -5x<-10 fem3gh,x>2 . (@



It mmrE3T=T 109
HAg AT JUT 3 (3) M3 (4) & MBI FaIe ST At Sue I fd x T AR H® 2 @ gg g AT 2 3 @3 w3
6 3 8¢ 95| fJ37 6.15 T IS I3t U™ 7% Y=oz 3 e I5 |
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fg396.15

fer FEt vms3T Bt T 9% Tw3fed At x, 2 € 9vE9 AT 2 3 I3t w3 6 I gt I few 39t
2<x<6.
Geae 19 : faw yGar f&9, 39 (Hydrochloric acid) € W& & 30° ' 35° ASHMMA 3IuNs € &9
Iftprm A= T | IUNTE ©T feAE T9adle UHTS fE9 ot I=9TT, Had ASHMA W3 @d&dle UHTS &F

5 [ (VLN -~ o EN S
uﬁeaswgsac:a (F-32) 3= | feg C M3 F @=d 3uHs & f3aret Agntdn w3 faaret easdle
f&g o 51
Jw feg fg3ar T 30<C< 35

5 . . " =
C=y (F-32) 3T I A yug Jer g

5
30<§(F—SD<35

. 9 9
AT S xB0)<(F-32)< T x(35)

AT 54<(F-32)<63
G 86 < F < 95.
fem et 3unrs &t &3t fenag 86°F W3 95°F € fegdrg d=ar |
Gemae 20 : & foa3aT &8 12% 3979 =TT WK 600 Bteqd I| fen &9 30% 379 =& us fasT
s e 7= 3T 7 »fye 3 YUz W 9 399 € H39T 15% 3 T U9 18% 3 ule 3= ?
9% V& B8 T 30% 3979 T8 WE € 4397 & Bied J, 3T
I% WS = (x + 600) Bteq

few met x ¥ 30% = 600 €7 12% > (x + 600) €7 15%
mI x ¥ 30% = 600 T 12% < (x + 600) €7 18%
ar 0 12 600 5 600
100 T 100 ©0V> 750 *+0600)
- 30x 12 18
mI + — (600) < — (x + 600)

100 T 100 100



30x + 7200 > 15x + 9000

30x + 7200 < 18x + 10800

15x > 1800 M3 12x < 3600

x> 120 M3 x < 300

120 < x < 300

fen Bt 30% 399 TF WH T HT3TT 120 Bted T 2T UT 300 Btegd I Wie It Irdtet I

43 %Y s

MITHTE 6 '3 g2a® MHITHTH

UHS | 3 6 3T St niasI=t § I8 &9 ¢

1. 2<3x-4<5 2. 6<-32x—4)<12

5 _3<4- oy 4 _15<2% =2
2 5

5. —12<4—3—’;32 6 7<BHD

yHs 7 3 10 ST €t MiAHs 3=t § 9% J9 W3 I8 & Afer duT '3 gan g
7. S5x+1>-24, 5x-1<24

8. 2(x—1)<x+5, 3(x+2)>2—x

9. 3x-7>2(x-6), 6-x>11—2x

10. 52x-7) —32x+3)<0, 2x+19 <6x+47.

11. T Ws & 68° F M3 77° F € fegars Iftprr AT I | few 3vunms €t fSa1et (degree) A&HIA (C)

9
f&9 (range) ot 9=, AdT ABHMHA (C) M3 9541 (F) Ufd=d3s A3 F = 5 C+3232?

12. 8% Sfgaq Ia9 @ W& &9 2% §fga 379 o WS H&™ a UIST 13T AT J | mylas fiumae feg
gfdd 3T 4% T ST UT 6% I WS I< | Had IS o4& 8% W& T HT3dT 640 Bted I 3T o T 2%

WS df H3dT fas Bteq fon feg st J=ar |

13. 45% 379 =8 1125 Bied W& &9 a8 steg utet fustfon a2 3T 1 »ite® fHade fE9 3979

& W3aT 25% 3 =T UT 30% I Wie IT ?
14. fon femast € 1Q U3 99& € 13T

o= MA 00
Q= A *

e MA WsfAa 1T "3 CA AHT migH™g @1 1 7d9 12 A% € ©1a € dfamt € 8 mjo =7 IQ,

80 < IQ < 140 = 3t Quat & Wafia GHa &F femaa (range) U3 a9 |
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JHt MarEITT

¢ 8 MAHTE3T € TH3fea Aftmi=T AT € 9 aifef3a fenmar ff9 <, >, < A7 > f9gt € yGar
&% gaet I

¢ &g wiATa 3T & 997 UH e fagt Afewr A3t AT weret A7 Aget J|

¢ fan S MAHE3T € E9f Uit § far €3 fagt ge=sHa Aftmr &% giet (Af gman) disT &
AaeT J U3 €9F uft & fEq fadt fas=ara Afem &7 grer (AF 97a1) d96 3 MAHTs3T &
fos Qe 7w J1

¢ x € GUat Uet & fAn 5% Mima3T Aat 98 AT 9 A=, § MAHs3T T 9% afde 35|

¢ 8T Afed™ U™ I x < a (AT x > q) TIATET Fet Afer™ ¢ €3 ' I3 FArE W3 o @ ¥ UH (AT
HH UH) S8t 3uT § ISt a9 feg |

@ x <a (A x> a) & AftpdAT JuT 3 TIATET HET At §ug e II3™ Ia9 Barg w3 o € ¥¥ U
(AT /e U™H) 781 3y & ISt 99 feg

¢ 799 fan Mms3T 99 < 7 > fog 3= 3T vimrssT € 3% <9 Jur Gug Afes fie =t mivs
TSI M3 MANTEIT 7 By fer Iy @ ¥8 UH (J&7) AT A9 U (§ud) @ €9 AaT 439 g=dr
frareT et =t fig mms3T § AgHe J4d |

¢ MATE3T YSTHE T % 439 §T AT 439 I | Adtdt Miaas 3Tt & fed i Agne d9er I
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